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FEPNP 3 E{K=4%%E /SILICON PNP TRANSISTOR
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Purpose: Color TV audio output,

converters,

inverters.

FEAl: mHER, KM, 15 2SC3902 (3DA3902) H b,
Features: High Vew, Large I., complementary to 2SC3902(3DA3902).

PR Z %1/ Absolute maximum ratings (Ta=25°C)

T0-126F

AL imm

SIS B | -EED-
Symbol Rating Unit 820.2 3.2:0.1
Vero -180 V _ _I_m
Vero 160 v Ao ol
Vino -6.0 v bl T
I -1.5 A ﬂ INg
Tep -2.5 A z |8
P 1.5 W T
P (T=25C) 10 W R
T, 150 T e oe]
T, -55~150 | C '
S : 1.E 2.6 3.B
LM Be 28 /Electrical characteristics (Ta=25°C)
ALz

SRS WK 2% AT Rating ¥

Symbol Test condition B/ME | MLRE | &K E | Unit

Min Typ Max

Vero I=10u A 1:=0 -180 V
Vero I=1. OmA 170 -160 v
Viso I=10u A 1=0 6.0 v
Tero V=120V 1:=0 0.1 LA
Tino Vie=4. 0V 1=0 -0.1 LA
hgs ) Vee==5. 0V I~=-100mA 100 400
his o) Vee=—5. 0V I=—10mA 90
Ve sat) I=—500mA I:=—50mA -0. 2 -0.5 v
Vg (sat) I=—500mA I7=—50mA -0. 85 -1.2 v
i Ve=—10V I[=—50mA 120 MHz
Cop Ve=—10V f=1. OMHz 22 pF
Ton 0. 04
Tete 1=1015=-1013=—700mA 0.7 us
te 0. 04

heecy R4 /hrsy classifications:

R:100~200

5:140~280 T:200~400
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10 For PNP, minus sign is omitted.|
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o For PNP, minus sign is omitted.
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